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1 %&H 733 742 1,475 672

2 &/ % 459 485 944 366

3 fit 522 594 1,116 466

4 B 118 131 249 109

5 {@1h 844 837 1,681 753

6 & 125 142 267 118

7 hB 23 35 58 35
8 dt#E/\f4 359 387 746 342

9 mHE/\E 428 485 913 451
10 HEHE 426 470 896 403
11 EH 134 147 281 122
12 /& 360 400 760 335
13 B# 320 353 673 296
14 B 981 1,107 2,088 928
15 & 201 227 428 180
16 = 250 246 496 265
17 #Eit 114 132 246 105
18 LM 254 308 562 258
19 B8 169 174 343 158
20 thid 128 144 272 127
21 HIH 292 316 608 253
22 FARA 199 215 414 187
23 A E—TH 597 640 1,237 501
24 M EZTH 509 561 1,070 406
25 AAE=TH 604 706 1,310 552
26 A EMTH 606 694 1,300 547
27 TARA—Y 198 228 426 167
28 M/E(I) 7 16 23 21
20 ®/E(I) 6 17 23 23
30 Bf&kx 18 2 20 20
31 }&B&—TH 0 0 0 0
32%B=TH 34 40 74 43
33H{EB=TH 1 0 1 1
34 EMTH 677 740 1,417 617
35 FEERTH 346 394 740 305
36 £ENRTH 768 863 1,631 616
37 &t TH 731 771 1,502 632
38 }£8/\TH 674 741 1,415 536
39 X8/ NATH 411 409 820 284
41 HEFE—TH 722 719 1,441 669
51 ES—TH 553 527 1,080 371
52 FEER-TH 484 522 1,006 365
53 FBER=TH 554 624 1,178 440
54 ¥5ERMTH 782 821 1,603 551
5 ESRTH 608 634 1,242 347
56 BESNTH 0 0 0 0
57 ¥5EARtTH 0 0 0 0
58 EES/\TH 0 0 0 0
590 ffESNLTH 0 0 0 0
60 BFES—THLF/* 147 172 319 128
61 BES-THAVYT R 96 113 209 84
62 7RX-<T=wia, a—t 152 178 330 124

X & & X 17,724 19,209 36,933 15,279



